44. Strategic Decisions – Making Them
1. Two In – Two Out:
Strategic decision-making involves analysing the underlying issues within a business, examining the ______________ environment and identifying a long-term plan (strategy) that will enable a firm to meet its aims.  Helped by models such as ______________ analysis, management must make often bold, sometimes harsh, decisions.  These are guided by the firm’s aims / tactics and the quantitative / qualitative results of internal and external audits. Also important will be management’s experience and intuition, especially in relation to constraints on making the ‘ideal’ decision.  Missing words from: SWOT, external, matrix, internal
2. Proactive or Reactive? Taking initiative (proactive) or responding to changes after they have happened?

2.1 Barclays Bank makes job cuts after a large fine imposed by UK regulators. 

Proactive 
Reactive
2.2 Toyota launches hybrid cars in China, even though sales are booming in 4x4s. 
Proactive 
Reactive
2.3 The 7th generation Apple iPhone launches only one year after the sixth. 

Proactive 
Reactive
2.4 As its sales slide, Marks & Spencer introduces a ‘Meal for a Tenner’ promotion.
Proactive 
Reactive
3. Tough Calls – What difficulties might management have faced making the following strategic decisions?
3.1 Morrisons, closing down twenty loss-making stores _____________________________________________
______________________________________________________________________________________

______________________________________________________________________________________
______________________________________________________________________________________
3.2 Volkswagen, deciding to switch its focus from diesel to electric cars _________________________________ 

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

4. Data Response: 

After many years of success, Amazon was slow to come to terms with falling sales. Specialists such as ASOS, Net-a-Porter and Hamleys.com had grabbed market share in a way Amazon-founder Jeff Bezos would never have expected. It hadn’t helped that Bezos had been focused on beating Richard Branson to open a fly-into-space tourism business. So when cutbacks began at Amazon, they were huge. Across Europe five huge ‘fulfilment centres’ (warehouses) were closed. Each employed over 1,000 people; one was in Britain.
4.1 Explain one possible effect of this strategic decision on the financial resources of Amazon UK. 
______________________________________________________________________________________

______________________________________________________________________________________

4.2 Explain one effect of this strategic decision on Amazon’s physical resources.
______________________________________________________________________________________

______________________________________________________________________________________
4.3 Explain one possible effect of this strategic decision on human resources at Amazon UK
______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________
44. ANSWERS: Strategic Decisions – Making Them
1. external … SWOT … aims … quantitative 

2.1 Reactive (A reaction to financial crisis)

2.2 Proactive 
2.3 Proactive (Apple drives sales through constant innovation)

2.4 Reactive (a response to falling sales and tighter market conditions)
3.1 Cutting 20 stores means making perhaps 1000 redundant; the calculation of the financial benefit has to be offset against the possible damage to staff morale – which in turn might affect customer service and repeat purchase (though the long timescale for strategic decisions make it unlikely that short-term problems would stop a decision being made)
3.2 Cutting back on diesel in order to focus on electric has huge operational and personnel implications. At this level (world-leading car companies) R&D scientists and technicians are of the very highest standard. You can’t simply switch your techy staff from being global experts on diesel to experts on electric cars. There will be redundancies and there will be hires of staff (at great expense) from companies such as Toyota and Tesla
4.1 In the short-term the closures will be very expensive – in redundancy payments and in write-offs against future expected profits; in the longer term it should help the profitability of the European business
4.2 Presumably the business is suffering under-utilisation of its warehousing capacity; that can never make sense; it’s the equivalent of a half-empty shop or factory. Physical resources are expensive to buy and maintain – so it’s vital to use them efficiently 
4.3 The closure of a UK warehouse implies 1,000+ jobs focused on one area of the country. This is bound to be hugely painful to the local economy and community. Amazon probably target areas where there’s high unemployment (to keep their costs down), so the closure will be devastating. 
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